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Löse die Klammern auf. Fasse soweit wie möglich zusammen.


[bookmark: _GoBack] 1.  (-13s - 18)(-13s + 18) = 169s² - 324


 2.  (q + 7r)(q - 17r) = q² - 10qr - 119r²


 3.  (15t-16 )( 15t+16 ) = 225t² - 256


 4.  (5u-11v)( +5u+11v) = 25u² - 121v²


 5.  (20p + 8q) (20p + 8q) = 400p² + 320pq + 64q²


 6.  (10v + 15w) (10v + 15w) = 100v² + 300vw + 225w²


 7.  (17s - 18)(-9s + 6) = 153s² - 264s + 108


 8.  (18r - 12s) (18r - 12s) = 324r² - 432rs + 144s²


 9.  (-17q - 3)(-17q + 3) = 289q² - 9


10.  (-13q - 11)(-13q + 11) = 169q² - 121
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